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1. FEH C 533 SJ

K 4 ouT IN |TOTAL
I8 == 41 44 85
BE —= 38 39 77

B2 E— 37 37 74
£ JBA 35 39 74

AR B 39 42 81
FH F— 41 43 84
no g 40 44 84
Hx X 39 38 77
=H 7 37 39 76
BE BE 37 37 74

3. #kFih C 589 S

K 4 ouT IN [TOTAL
KiG FTH 38 41 79
2k B 37 47 84
R Bz 41 41 82
Hih E=EX 50 48 98
BEA X= 41 50 91
=R B 43 43 86

B §3PuER 43 43 86
ER EE| 41 40 81
=N EEF 47 48 95
=N RF 46 50 96
5. Rl [ 591 S)

K 4 ouT IN |[TOTAL
A {2 41 43 84
Bim #A 49 40 89
A IE 43 46 89
kA= 43 41 84
K T 42 41 83
L EAR 42 42 84

ARH FX 42 44 86
ERiB ZONER 49 40 89
Tiz HEF 42 44 86
fik BF 39 45 84
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K 4 ouT IN |TOTAL
B EXKER 34 37 71
Ay E— 41 39 80
R BE{T 38 40 78
mE EA 47 40 87
BES &K— 43 41 84
IR 5 36 39 75
JFH % 39 37 76
=H & 37 38 75
okl FE 38 40 78
Hh BE 40 39 79
4. e C 543 S]
K # ouT IN |TOTAL
= 40 40 80
NI BRTE] 39 38 77
=R B 43 38 81
® B 43 40 83
Erk BT 39 43 82
BH #8X 35 41 76
Bk ES 38 40 78
FE E 42 37 79
FH RF 38 40 78
A Asx 35 40 75
6. KEET [ 571 S)
K 4 ouT IN |TOTAL
RE FE 46 45 91
KA RE 39 41 80
i = 43 42 85
g BE 36 47 83
0
RHih 25 41 44 85
falR fi— 36 37 73
0
T =F 43 43 86
HIR &7y 41 38 79
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K 4 ouT IN |TOTAL
o #Fx 39 42 81
E5 FERK 46 39 85
£ ERK 39 40 79
Bl FH 43 45 88
fik XK 39 40 79
W FE 42 47 89
Zik 3B 42 45 87
ZH = 43 41 84
AR EH 47 45 92
0
9. Mt 558 SJ
K 4 ouUT IN [TOTAL
Xl EF 44 45 89
I fE— 44 44 88
HHF+ TR 36 42 78
Bt X5 45 40 85
#H &£ 41 40 81
fF 1T 37 40 77
=ig & 38 40 78
0O = 40 39 79
=2F B 41 42 83
F [&F 41 41 82
11. RIET 539 SJ
K 4 ouT IN |TOTAL
Xixg —1& 43 39 82
He E—EH 35 38 73
Ly RS 34 37 71
INE FIA 37 39 76
. BF 37 39 76
g £ 42 43 85
BRI X 38 40 78
HK £= 41 42 83
R& [HF 48 43 91
RE HEF 43 45 88
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K 4 ouT IN |TOTAL
EH#H EF 38 35 73
ax# # 34 39 73
= B 44 38 82
Fre Bz 45 36 81
BE & 42 44 86
A 1E= 36 42 78
¥ ER 35 36 71
FEre EX 36 42 78
5l ELF 43 38 81
B 1 42 43 85
10. FEEH ( 551 S)
K # ouUT IN |TOTAL
& BUE 37 40 77
FIR BRH 41 42 83
FWIEX 45 46 91
FE EC 39 41 80
N 41 47 88
HE4E #h 37 37 74
BH EZ= 37 43 80
= IEE 40 44 84
FEW HF 41 46 87
BIx E£= 37 36 73
12. EEHH [ 571 S)
K 4 ouT IN |TOTAL
=B X 44 41 85
AR PN 40 40 80
=R EBX 37 38 75
INETR K9 41 41 82
i IEBH 40 36 76
BTH BEX 40 48 88
ZIU 2 47 41 88
AFA EF 44 44 88
/R BRF 46 39 85
EBZ MEE 48 53 101
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K 4 ouT IN |TOTAL
XE OIESE 42 43 85
=8 &HEh 37 41 78
tHE H{E 43 42 85
2l =HiT 37 40 77
NI BR 37 40 77
AR 39 42 81
2H S 38 40 78
xR OEX 37 41 78

KE HEF 37 42 79
Alls R F 47 42 89
15. BFEE C 564 S)

K 4 ouUT IN [TOTAL
ISEF %8 35 36 71
EE #4(E 42 42 84
BE 7 40 40 80
EE i 44 47 91

BER EH 40 43 83
lLUEFE =i 45 41 86
AR F— 42 44 86
A RSG5 42 39 81
P BE 42 40 82
BH E=F 44 39 83
17. ENiEERT ( 539 SJ
K 4 ouT IN |TOTAL
FEH EF 39 40 79
¥FH 38 42 42 84
5E Efl 44 38 82

=iE 39 40 79
SH B 40 38 78
A& el 39 39 78
L3 BH 39 40 79
aHF E— 34 40 74

tEs HEF 37 35 72
B EF 43 41 84
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K 4 ouT IN |TOTAL
KE M= NR
P+ ZEBH 38 35 73
FiE F 42 45 87
Hi —=% 38 36 74
XE At 40 42 82
fEAR ZEif 35 40 75
g EA 37 38 75

I E 39 40 79
TE BF 37 39 76
AR EEF 46 45 91

16. FEEL ( 546 S

K # ouT IN |TOTAL
EF EX 37 38 75
1EBE KIE 41 40 81
® B4 39 45 84
L R 41 40 81
B fn 36 34 70
1EiE B= 38 38 76
) S 40 39 79
Tl 73 43 43 86
Bg BEEF 54 51 105
ik RF 48 45 93

18. ILHART [ 527 S)

K 4 ouT IN |TOTAL
FiE A 37 37 74
SE % 39 37 76
B X7 41 43 84
AR JE— 36 40 76
K#HEIE HH 39 44 83
PH FERK 37 37 74
E=H —X 37 39 76
TE HE 39 39 78
FAE #0# 38 35 73
SB KLA 40 39 79
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K 4 ouT IN |TOTAL
HIL ZR5h 40 38 78
BH FiZ 40 37 77
ES &8 41 38 79
FER X 42 46 88
£ RX 44 40 84
LT R#c 40 40 80
28 fEmh 40 45 85
EE I 36 39 75

BE EKTF 39 37 76
mikx T 45 45 90
21. Bt ( 576 S)

K 4 ouUT IN [TOTAL
HE & 43 39 82
fEE E— 39 40 79
=N EF 45 42 87
niE 8z 0
XA EHI 41 40 81
b FRU 44 46 90
EHE Bl 37 40 77
MNE F= 41 44 85
He F=F 42 43 85

0
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K 4 ouT IN |TOTAL
0
¥ ER 34 41 75

2 855 46 44 90
Bk JEHk 39 41 80
M BE— 40 43 83
XX TR 39 45 84

INDMIE B 36 42 78
¥12 IEHH 39 36 75
WH B+ 52 45 97
2B MEF 42 40 82
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K 4 ouT IN |TOTAL
5K IE—ER 43 38 81
BII A= 40 38 78
/MIL D 44 38 82
RS EH 37 43 80
TE BEE 38 42 80
FH {5 45 44 89
aiE & 45 41 86
=8 k5 37 42 79
He LS 43 46 89
il FHE 40 48 88
22. REES [ 548 S)
K # ouT IN |TOTAL
Bk E1T 42 35 77
g F— 35 36 71
R IE— 39 37 76
N 38 38 76
56 X— 41 40 81
B¥E EE 42 42 84
NI 41 42 83
=i —ER 46 38 84
A& Elg 44 41 85
£l EBEF 43 43 86
24. Bl [ 582 S
K 4 ouT IN |TOTAL
=H EZ4% 38 37 75
i E— 43 39 82
SUs &l 49 41 90
% %8k 41 46 87
=H 24 44 49 93
B BH 50 47 97
ZH BE 37 41 78
BiE BB 42 38 80
0
it shE 46 44 90
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K 4 ouT IN |TOTAL
A B 35 40 75
BTk = 41 42 83
BE g8 43 44 87
af & 42 41 83
Il B 38 35 73
wRE LR 42 44 86
ARH 1F— 40 42 82
BF B2 46 44 90
=5 HEE 43 47 90
=g BT 49 46 95

27. BEh [ 552 S

K 4 ouUT IN [TOTAL
BRIt B8 42 40 82
EE £ 36 38 74
AL BEES 42 43 85
fik FE& 45 45 90
e X 38 39 77
INE M2 37 38 75
T F5 42 38 80
* 14 39 40 79
i)l HEF 51 41 92

0
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K 4 ouT IN |TOTAL
fEAR F 43 41 84
4 - 39 44 83

0

INE R 48 42 90
=R BT 46 41 87
fik A5 37 36 73
rE = 40 42 82
ik Fhi— 46 37 83
ik HF 35 38 73
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K 4 ouT IN |TOTAL
=M F4 39 45 84
KiE 5k 36 39 75
s BZ 39 43 82
AR EX 38 39 77
BE A 41 37 78
BE £ 33 37 70
NI R 44 38 82
2H EE 41 38 79
FiE BX 44 42 86
0
28. B C 551 S
K # ouUT IN |TOTAL
iR ES 37 39 76
=l s 38 44 82
T8 IE1T 38 42 80
FHI $#%i 39 41 80
~E —& 43 36 79
TR & 39 41 80
B IFRE 36 38 74
Il B— 42 44 86
IS 45 48 93
0
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K 4 ouT IN |TOTAL
Al {58 38 38 76
HH HZ 44 41 85
g & 39 42 81
BiE E= 39 42 81
E¥ &F 35 34 69
ME EE 39 36 75
riE —= 36 41 77
REE 1EF 39 42 81
Rk 5H 40 37 77
B AZE 40 41 81
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K 4 ouT IN |TOTAL
=R H— 38 39 77
AR #£— 41 37 78
FHER —1{= 38 41 79
L FiE 43 40 83
A FAh 44 42 86
YEd #UA 41 42 83
fik H— 39 38 77
NEE B 40 40 80
BREE & 39 45 84
@ FT 42 45 87
33. LWgHmh [ 581 S)
K 4 ouT IN [TOTAL
el E— 39 42 81
EEX RE 42 44 86
B F 39 43 82
KE R 44 46 90
L HE] 47 46 93
— 5 = 37 41 78
NIRRT 40 39 79
MA _F— 39 47 86
A8 EiFfx 47 48 95
RE X 47 42 89

Aj‘ l/ Irxr AN ’,‘EIE
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K 4 ouT IN |TOTAL
BEHfH X= 44 45 89
B 7 40 49 89
BIx B 42 38 80
gk & 40 41 81
A+ HARR 34 37 71
X Fx 41 44 85
¥ KA 39 36 75
It B— 38 38 76
IWH EX 44 51 95
Tl EF 42 50 92
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